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void main()
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inline int cube(int n)
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f1(int b[],int 5)
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{ if(s==1) return b|0];

else
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return b[s-1]+ f1(b,s-1); }
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void main() 1,4
{ int a=0205,*aptr; 2. 3
aptr=&a; * 3
cout<<&a <<end] 111 . 5 (f

<<aptr <<endl //2
<<*aptr <<endl //3
<<&"aptr<<endl //4
~<*&aptr; 1} //5

void f1(int i){cout<<1;) Tl Conwyolb al 3 plaf g5 @9 95 (caalipy jo  -1oF
void f2(int j){cout<<2:}
void f3(int k){cout<<3;}
;'ﬂid;t:i]:go 2,1 ERROR wali s ()
void(*f[3])(int)={f1,12,f3}; Big Hamml 3 s s b g0 o5
: Ll 33 Bgitiieh oplgid 0 Ay 93 450 s (Y
int choice; cin>>choice; 39 g JlaSld ol g 3 sae 2y, L (Y

WhilE{Ehﬂiﬂ'[‘}:ﬂ && ﬂhnice{j}{ X
(*f|choice])(choice); Dadierwlr 3 ue d 0559 b gd das ] 0gy9 bial 502 Q 54,9 L (F

cin>>choice;} )
class mun‘t{ Tl an 30 3 j90 plAT gy 1 9y sdslipp jo =10¥
friend void setx(count &,int); 3,1 ERROR 4sb 5 ()
public: 2 e otz 1, 0 print gt (¥
count(){x=0;} A5 I 1, 00 print L (v
" whet et il o [

void print() const {cont<<x<<endls} S5 el 1y ] print b (%
private:

int x;}3

void setx(count &c,int val)

{ e.x=val; }

void main()

{ count counter;
counter.print();

setx(&counter,val);

counter.print(); H
ol Examplt{ el ERROR Ghle lakas pluf o) 45 gy gdalip ;0 =VeA
publie: 334,53,6 ()
example(int y =10){data=y;} i 15248,9¢(
int getincrement() { return ++data;} //2 44104 11 (v
static int getcount() 13 449410 (¥
| cout=<data; /4

return count; } /15
private: L

int data; 11

statie int countsi}; /18
char *string; 19
string= new char[20]; /10

free (string); /11

void main() { }

class rational{ to,1s ERROR 15 plas (g; 4 95 gdeliy 0 =)o

friend rational operator-(const rational&); i1 1 ¢y
publie: ' 2 (Y

rational& operator=(const rational&); [y 3
private: 4 (F

int num,den;};
rational rational::operator-(const rational& x) /3
{ rational y(-x.num,x.den); /4
return y; ]
void main()

¥ k.
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class X{
publie:
void f() { cout<<"XX";)
int a; };
class ¥; public X |
publie:
void ) {cout<<"YYy";)
inta; };
void main()
{ X x: x.a=2: x.0();
coul<<x.a;
Y ¥; y.a=5; y.X::a=88;
v-10); y.X::0();
cout<<y.a;
cout<<y.X::a;
X z=y; cout<<z.a; '

class X |

public: )
X(){cout<<"X::X(Jeonstructor executing\n';} /1

~X(}{cout<<"X::X()destructor executing\n'';} }; /12

class Y:public X{

publie:

Y(){cout<<"Y::Y()constructor executing\n";) I3

~Y(Heout<<"Y::Y()destructor executing\n";} }; /4

class Z: public Y {
publie:
Z(int n){cout<<"Z::Z(int)constructor executing\n;} /5
-ri'f{] {cout<<"Z::Z()destructor executing\n"; }//6
void main()
{ Z.2(88);)

class person{

public:

person{const char® s){

name = new char|strlen(s)+1]; strepy(name,s);}
~person(){delete|] name;}

protected:

char* name; };

class student: public person{

public:

student(const char* s.const char® m):person(s)
{major=new char|strlen{m)+1]:strepy(major,m);}
~student(){delete[Jmajor;}

private:

char* major;

1

void main()

{ person x("parsa™);

! .

student y("faradad"," parsian');} }
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parsa (Y

parsian (¥

faradad (¥

Ciand plaf gy woa 01y 102572 (5899 51 51095 4195 alip 52

void main()
{ char c;
cout<<cin.eof();
while({c=cin.get())!=EOF)
cout.put{c);
cout<<c<<cin.eof(); }
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F oo
'I-'f.lliﬂ main() ] @laF mgys gy gy sl o WY
{ int :1:33; BESBBETZ (
coul<<n
<=setbase(16)<<n 33222‘333 {::
<<setbase(8)<<n 883 (
<<setbase(10)<<n; } 885813088 (¥
void main() faily oo 98 .o plaf 29,5 09y a9y gasbin 2 -NB
{ ' 1 O
cout<<(88+10%(3%(9+3/(25)))); /N 2 (Y
cout<<(88%10%(3%(9+3/(25)))); /12 3
cout<<(88+10%(3%(9*3/(25)))); /13 4 (¥
cout<<(88*10*(3%(9+3/(25)))); //4
l
Tl Ii-‘-.l-f E:-]J.‘;- Enter a2 ﬁd_,."l' -:_;1, 511_’,_:{.,};_..!} L;ﬁ..ll..i-},.: 3 V¥
void main() 50
| 20 (v
mut'ﬂ:{(cin.get{} + cin.get[}}; 202 ¢v
204 (¢

count<<strlen(""+strlen(""\n'")+strlen T

|

void main()
{
char x;int ac=0,be=0,cc=0:
while((x=cin.get())!=EOF)
switch (x)
{ case 'A": case'a": ++ac;break;
case 'B",'b"s ++be;break:
case 'C':case 'c':++ec;)

cout<<ac<<he<<ec;
J
void main()
{
int c=1;
while(++e<=10)
} cout<<(itc % 2 2++ei+te);
int x=1;
void main(){

{

int x=2;{int x=3; cout<<x—;}cout<<x++;)
{int x=3;{int x=4; cout<<++x;}cout<<x—;}
cout<<iix++<<::x4+4;

}

inline void f(int x,int& y,int& z)
{ Hxgy—ittz; }

void main()

{

int a=22,b=33,c=44;
f(a,b.,c);cout<<a<<b<<c;

}
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fori:=1tondo '; e ; e
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Ls et il o
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begin Ay anly Saes L i ples aly] gails e yelis (O
oeTomtael: b e L3l S ot sae Juie wl] cals ate a4 (Y
:h!n']_: fﬂ' 1 A et pad g iRt Al ey T e et et P03 il ke (1

end; b gails g og asales 23 sam sails lade plp oS 5w Jl pS sleails (F

CPPRRT A FE-S B A KT B 3
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begin AL aialys 3 olicl asn M cail,] 050w, alie ()
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end.

Procedure Zigma Q (a: integer);

begin iy jldd (Y
if rear := n then Queue full ( ) P
EI:SE w ]

begin i & 04 adlal (T
rear := rear +1;
q [rear] := a;
end;
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fod sonlys Jeld

: +14 42 T 42

Var A, B, C: integer;
Begin 2.9 T ldqy

A:=8:B:=6;C:=9 6 .+14 .-2 T«
Push (A + B); 9 .-14 ,-2 .4(r
Push (A — B);
* Pop (A);

Push (A — C);
* Pop (B);

Push (B + C);
* Pop (A);
* Pop (C);

End;
AlaS Ol Lilediyl jo W Rlee iyl bt prarr Tp—q/r gwisibe oyle b Bl gty Sl —VFF
Toguign Jolds 1y a5

+p*q—rquqr i +p*q—qTrf|3qr:'f ~+|}"'qTer'qrf.T pqrpT"+qr—-U
".".l-....‘..ri.!-,__‘.l.r..s..'-:ll.l.l-l_g,ib e A Qﬂﬁdﬁld}ud_&g:‘fﬂﬁ -1F&
rear := (rear — 1) — mod n (¥ rear ;= rear mod n (\
rear -= (rear + 1) mod (n + 1) (¥ rear = (rear + 1) mod n (v
?L:uﬂt,;-‘] ﬁl_,.'-l_-l‘_].-p'.ﬂ-M%jff‘dfﬂ#,ﬂﬂi{ﬁjahﬂjﬁi#‘iﬂlﬂj -\¥F
Procedure Print (L: List Pointer); gt o) (105 Sls ke ()
Begin o] cplme 8 e (X
if (L <> nil) then SR JI-LH :
begin e e aleny
if tag (L.) = 0 then etk e | puley (F
write (data (L))
clse
Print (data (L));
Print (Link (L));
end;
End.
3,00 dgmag 2 Jab a Drgliie pses door pjdlE o ~1FY
(&) 1o
2 (Y
(8) (© 3.(v
4 (f
Sl o] Jols ais 38 phaf sl psdu 3 g 5af Sl j3 1) 1) gaslippaaled -IFA
tt;t:;:liun count (t : tree): integer; ohaszd cally slae S A let ()
in
: : m i) Y
if t=mil then count :=0 e = e
else count := 1 + max (count (L child (1)), Laos y alaas 5 les (F
count (r child (t)): Lo s o bea (T
end;
Sl gn ved 0 33 2yt 1 03 o o Lt BT (gslyT S (55l 50 o jafll 38 alas <1FA
Quick Sort (T Bubble Sort (v Selection Sort (¥ Insertion Sort (\

g Sl pae 2 sleai )T saes -0
-C-—lL,iiLHjJithﬁjL—ﬂliﬁl-ﬂjfgq 8,0 Al Jusae aF Cedd | 250 Max tree ==, ()
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PART A: Reading Comprehension

Directions: Read the following passage and choose the best choice (1), {2), (3), or (4).
T'hen mark it on your answer sheet.

- -

[ With today’s technical advance and education internet users are rapidly increasing.
Whether they wish to check their e-mails, carry-out bank transactions or watch films, the

S majority will need to use their web browsers to access a specific web page. Although a wide

= variety ol browsers exists, the steps to find their desired web page is the same. Simply you
can click on a webpage hyperlink or enter a URL. The browser sends this to a DNS server,
which is a look-up table to find the IP address of the web server. The IP address is a unique
32-bit set of numbers. Once the DNS has found the IP address, it sends it back to the
browser, which sends it a web server for further processing.

Another approach is to use a search engine such as AltaVista. Through keywords and
other preferences such as boolean operators the engine searches through tens of thousands
of webpages and returns the most similar back to the user. The user is now free to carry out
their intended actions.

151- What is a URL?
3 1) Address of a page 2) Location of a server
3) Resource of a computer 4) Unifarm Resource Location
152- What is an IP address?
1) Unique domain name 2) Address of a computer
3) Numeric address of internet 4) Characters that identifies internet file
153- What is a DNS server?
1) Unique host name 2) Unique address of server
3) Numerical internet address 4) Database of 1P addresses
[54- Search engines provide --------— -.
1) DNS 2) Links 3) Keywords 4) Email accounts
155- What happens when a user requests for a webpage?
|} Browser sends address of request to DNS server.
2) DNS server returns URL back to the web server.
3) Browser sends request to DNS server to create an IP address.
4) DNS server creates a unique [P address and sends it back to the browser.
PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

In a typical network system a (156) ==------- is a special computer that determines the path
messages should be directed. A (157) - i1s a network over a small distance. A

ST (158) ---mmeeee enables a computer to (159) ~----een- and receive data using a telephone line
and finally the (160) ------——-- is the transmission path and which can handle major data
traffic.

156- 1) File server 2) Gateway 3) Router 4) Bridge
157- 1) SAN 2) WAN 3) LAN 4) PAN
158- 1) hub 2) printer 3) modem 4) hard disk
159- 1) proceed 2) record 3) compute 4) transmit
160- 1) backbone 2) router 3) node 4} port




